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ONb
oP
Prototype Nb,P4
AFLOW prototype label A7B4_-mC44_12_ac6i-4i-001
ICSD 41238
Pearson symbol mC44
Space group number 12
Space group symbol C2/m

AFLOW prototype command aflow --proto=A7B4_mC44_12_ac6i_4i-001
—Tparams=a, b/a7 C/a’) Bv X3,R3, L4, R4, X5,25, L6, 26, L7, 27, L, 28, L9, 29, L10, 210, L11, 11,
T12, 212

Base-centered Monoclinic primitive vectors

a; = saX — by
a; = %a X+ %b y
ag = ccosfBX+csinfz
Basis vectors
Lattice Cartesian Wyckoff Atom
coordinates coordinates position type
B, = 0 = 0 (2a) Nb I
B, = 3 ag = tccos R+ esin B2 (2c) Nb I
B; = r3a] +r3as + z3as = (axs + czzcos B) X+ cz3sin Bz (4) Nb III
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Nb III
Nb IV
Nb IV
Nb V
Nb 'V
Nb VI
Nb VI
Nb VII
Nb VII

By, = —x3a] — T3ag — 23 a3 = — (axs + cz3cos ) X — czgsin S 2 (4)
(4i)
(4)
(4)
(4i)
(4i)
(4i)
(4)
(4i)

Bis = xga) + rgas + zgag = (axg + czgcos B) X + czgsin f 2 (4i) Nb VIII
(4i)
(4)
(4i)
(4)
(4i)
(4i)
(4i)
(41)
(4)

By = Tqa1 + 21489 + 24 a3 = (axy + cz4co8B) X+ cz4sinf 2
Bg = —X4a] — T4ap — 24 A3 = — (axg + czqcos8B) X — czgsin B2
B, = Tsaq + T5ag + 25 a3 = (axs + czscos f) X+ czssin Sz
Bg = —Tsa] — Tsag — 25 a3 = —(axs + cz5cos ) X — cz5sin S 2
By = Tga + Tgas + zg as = (axg + czgcos B) X + czgsin f 2
Bio = —Xga] — LAy — 26 A3 = — (axe + czg cos B) X — czgsin B 2
Bi1 = T7ay +x7ag + zras = (ax7 4 cz7cos B) X+ czrsin S 2

B = —x7a] — Ty ag — 27 a3 = —(ax7 4+ czrcos B) X — czrsin f 2

Nb VIII
PI
PI
PII
PII
P III
P III
PIV
P IV

By = —Trga; — Tgay — 2g a3 = — (axg + czg cos B) X — czgsin B 2
Bis = Tgay + Tgag + 29 as = (axg 4 czgcos B) X + czgsin S 2
Big = —Zgaj] — Tgay — 29 A3 = — (azg + czgcos B) X — czgsin S 2
By = Tipay + Tipas + 210 as = (ax19 + cz10cos B) X + cziposin Bz
Bis = —T10@1 — T10 a2 — 210 A3 = — (@10 + cz10 cos B) X — cz198in B2
Big = xr11a] +11a + 211 a3 = (aazn + cz11 COSﬂ) X+ cz11 sinﬁi
B2o = —Ti1a; —x11d2 — 21133 = — (@11 + cz11 cos B) X — cz1sin B2
By = Tiga) + Tioas + 212 a3 = (ax12 + cz12co8 B) X + cz128in B Z

B22 = —X12A] —X12A2 — Z124A3 = — (al‘lg + CZ12 COS B) X — Cz12 sinﬁi
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